
F2OSB  OLYMPIC SUPINE BENCH
Ref # Part # Description
  1 ..........BF226.........FWOSB BACK FRAME
  2 ..........CM221........OLYMPIC CROSSMEMBER ASSEMBLY
  3 ..........SF214.........SEAT FRAME
  4 ..........01-1105 ......BOLT HH5 3/8 X 1 1/2 (UPH.)
  5 ..........04-5213 ......WASHER, 3/8 LOCK, BLACK (UPH.)
  6 ..........09-2070 ......PLUG, FRAME 2 X 2
  7 ..........09-5030 ......FOOT PAD,  ROUND
  8 ..........09-9212 ......STAINLESS STEEL .120 X 3 X 27 3/4 LEFT
  9 ..........09-9213 ......STAINLESS STEEL .120 X 3 X 27 3/4 RIGHT
10 ..........19-1110.......PAINT SPRAY CAN 16 oz.
11 ..........19-5194 ......PARTS MANUAL  F2OSB
12 ..........OMIT
13 ..........UP9056 ......PAD, BACK, SUPINE BENCH
14 ..........12-1380 ......INSPECTION STICKER DECAL
15 ..........12-5600 ......NEW NAUTILUS NAMEPLATE 1 1/2  x 8 1/2 L
16 ..........19-1291 ......DECAL SERIAL # BAR CODE

Ref # .....Part #..........Description
17 ..........01-1321 ......BOLT HH5 1/2 X 2-1/2  BLACK
18 ..........01-1381 ......BOLT HH5 1/2 X 4  BLACK
19 ..........02-4100 ......1/4 X 1/2 AHC SCREW
20..........02-9210 ......3/8-16 X 1 HH5 BOLT
21 ..........03-1055 ......FL NUT 1/2 -13  BLACK
22 ..........04-5214 ......1/2 SAE FLAT WASHER
23 ..........04-5207 ......3/8 SAE FLAT WASHER
24 ..........07-5489 ......WEIGHT STORAGE BAR,  20"
25 ..........07-5832 ......WEIGHT STORAGE BAR, 11 5/8"
26 ..........09-2090 ......PLUG, FRAME, 2X3
27 ..........09-4066 ......WEIGHT STORAGE, 3/4 X 3" OD RUBBER
28 ..........09-5035 ......RECTANGULAR FOOT PADS
29 ..........09-9060 ......SLEEVE, BAR STORAGE
30 ..........12-5600 ......NEW NAUTILUS NAMEPLATE 1 1/2  x 8 1/2 L
31 ..........19-1014 ......DOUBLE SIDED TAPE 2"   (42")

https://www.gympart.com/itemdesc.aspx?ic=ST1573&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1473&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1182&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1281&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10426&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10426&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


4
5

7

8
9

13

15

17
18

19

20

21

23

24

25

26

27

28

29

31

26

31

29

29

29

19

19

19
25

24

2427

27

24

18

22

22

21

21

15

21

5
4

28

28

20 23

22

Last Rev Date: 12/21/06

RED: PAINTED ITEMS
Trollies / Machine

OLYMPIC SUPINE BENCH
Nautilus Parts Diagram

F2OSB

CM221

SF214

BF226

BF226


